Reticolato 2 a2

Nome:

Usa la moltiplicazione del reticolo per risolvere ogni problema.

b 46 x 68 =

M atematica

2) 79x97 =

3 37 x44 =
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ﬂé‘ Reticolato 2 a2 Nome Soluzioni

Usa la moltiplicazione del reticolo per risolvere ogni problema. Risposte
1) 2) 3)
46 x 68 = 79x 97 = 37 x44=
1 3.128
4 6 7 9 3 7
2 7138 . e 6 18 g 12 s | 7.663
3 |7 4 6 o R 1 172 8
3 a7 e e S e e 1.628
|8 R 7 P a3
1 2 8 6 9|, 3 6 2 8
2 8 6 .~ 3 2 8 4 3.010
5, 1.809
4) 5) 6)
35x 86 = 67 x 27 = 65 x 42 =
6. 2.730
3 5 6 7 6 5
4 A1 2 7
2 8 1,/ 2 2 4 |7 4.898
3 4 0 124 o |74l O
1 .73 .7 e e s e e
e y 7 y 2 |8 338
ol 8.7 0 s |~ 2.9 77270
1,70 0,709 3,70 9. 396
0. 4.263
) 79x62= 8 26x13= 9 18x 2= 759
7 9 2 6 1 8 1L
4, AL 0, S|t 0, A2 e 4437
a7 2| 0,/' 2, . ol 21~
1 1 1o |1 0 1
2 3 2
8 4 8 3 6 8 3 2 6
9 8 3 .78 9 6
10) g7 x 49= ) 16x47= 12) s1xg7=
8 7 1 6 5 1
2 12 0
3 4 0 4 4 8
4, 2 8 O, 4,,/ 4 4, 0 8
<7 6 1o 14 .7 <13 0
9 R 7
5 2 3 2.7 2 4 5 7
6 3 5 7 2 3 7
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
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